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SECTION 1:
Interpretation

1. Consider a mobile beacon that moves around a sensor node. The node uses data avail-
able to it for calculating its probable located using Bayes theorem. The node could be
located among four equal size squares namely Al, A2, A3 and A4. Following data is
available to the node using local measurements.

Probability that node in a square x is (P(A;)) :

P(A;) = 0.3

P(A3) = 0.35

P(Ay) = 0.15

Probability that RSSI is equal to "k” if node is in square x:P(B|A,) :
P(BJ|A;) =0.1

P(B|A;) =0.3

P(B|A;) = 0.25

P(B|A) = 0.35

Probability that RSSI is equal to "k”,P(B), isnotknow.

In what square the node could be located with highest probability? What is the probability
of node being located in square A17

Solution:
P(B|A1).P(A;) + P(B|A2).P(A2) + P(B|As).P(As) + P(B|Ay).P(Ay) = P(B)
0.02 + 0.09 4+ 0.0875 4+ 0.0525 = 0.25

The node will be located in square Ay with highest probabilty i.e 0.09/0.25 = 0, 36
The probability that node will be lcoated in square Ay is equal to 0.02/0.25 = 0,08



